1. Solve logox + logy(x — 2) = 3, for x > 2.

2 @
(b)
3 @
(b)

(Total 7 marks)

Find log, 32.
1)

X

. 32
Given that log, [ oy

] can be written as px + qy, find the value of p and of g.

4)
(Total 5 marks)

Let log. 3 =p and log, 5 = g. Find an expression in terms of p and g for

(i) logc15;
(i)  log . 25.

. . 1
Find the value of d if log 46 = 5

(Total 6 marks)

4. Find the exact solution of the equation 92 = 274,

5. @

(b)

(Total 6 marks)

Given that logz x — logs (x — 5) = logz A, express A in terms of x.

Hence or otherwise, solve the equation logs x — logs (x — 5) = 1.

(Total 6 marks)
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6. Let p=10gy9 X, g =10g1p Yy and r = logyq z.

Write the expression Ioglo[ 2X j interms of p, gand r.

¥z

(Total 6 marks)

7. Leta=logx, b=logy, andc =log z.

x2\[y
23

Write log [ } in terms of a, b and c.

(Total 6 marks)

8. Solve the equation logg 81 + logg é + logg 3 = logg X.

(Total 4 marks)

2
9. Let log;oP = X, 10g10Q =y and logygR = z. Express Iogl{$J in terms of x, y and z.

(Total 4 marks)

2X
10.  Solve the equation 91 = (%) .
(Total 4 marks)
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